EARAROBREBRT —5 XN—ZXBISH—F 2021108178 (H) 40R#4H

R CEE VR S (m | mewE - | v wo
[AXE%) 1 & :5,100,000  ~ 237 :2,000,000 9  33#%:1,300,000H . 43#&:770,000 ™ 5 7 :510,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. < SHEFR : - HRE (FER)
1 3 /\thJa 4 2 g:_é.o 1.(2_6).3 2-1 39.1| 83.9 3 (.Tzé) %&}éj{
RiNZ—ka1—X #:70vI7RX—-5 TARXRAY v Rt
< Y fmEE= : = EREEEE (R
) S| x4y 3m7v0 B 2 I 1.(2263.6 5-2 39.3( 81.4 | 2 :1:(3 i
RiXAY3IR—5— B:XAY3YRI—) HEFIIS
\ . )| | EB : - RHET (R
3 7 FrLwIHRT 42 Lie 1(.12/62.)7 5-5 39.3| 80.6 | 1 (4_9; gaﬁgﬁ(ﬁ%
R:ZvF—7A4) B:T4vA—I—R /=Y IT7—L
NS~ 2 | HABATE 1:27.4 1-2 40.3| 753 | 4 506 | ZLLEERE (ER)
4|5|5 | AR=LY =2 [B] # 55.0 @ v | @0 G1L-vvz
R:RLVT#Y B:IFTvF BDIT7—LA
— o < BRES : - AtEBE (FEH)
5 6 FATLAENAEY 4 2 55.0E 1.(217).6 5-4 40.2| 73.6 8 (4:20) T’]’%ﬂ‘.ﬁ
RIRIVIRTAvIOFUT7— BTAILARLYY T4 TLBS
S = AEAF : - = (FER)
6172 9| 2—vvF52 42 S 1.(27%.7 3-5 41.3] 65.8 | 7 (4:5; iaa@@.
RAROVIUT—Y B:ZY /YA VTI AR
= 0w o2 | MRS 1:29.0 4-5 41.6] 63.9 | 6 | 478 |=EHIAE (TR
yARNER gAY A 55.0 R o |HER
RB N/ TSIV B:OLYFSYR RIVEVIERRS
» EUEES : - JIINEE (FR)
8 4| NTFARUA 32 =l 1(.3%)1 8-8 41.2 ] 62.6 | 10 ig;& s
R:IAYYTSvva B:I—-YVFzOF— %H &3k
. » EES:A :29. - . . IWWMEE (FER)
9/7|8|~¥—dvrD—=X [B] "2 *51.0 1(72?:; R A R (L_l?g) R
RFAIWNTPFH— B/ —ET7H— St
= 2 | ENEE 1:30.1 8-8 42.2]5.4| 9 492 |ROER (FH)
10/8/10) 751 L7275 — [B] "% ® G | smn—z -y
RiSZ BRAYRT VT BET7—L
°__ R 4 2 | BEEE 1:31.8 10-10 3.4 462 | 1 468 | HEBHR (RF)
111811/ IXT—FRE—R 4520 a0 (o) | EHERR
R:5=Z B:YYIFaFy JESEERBUS
[ BN
En'y 51.5-39.2
NOYIA L | 12.4-10.9-11.5-12.3-12.4-12.7-14.1
@ 11— —BBIEIL
13—7F—
20—F—
Ia=5r= (+5,3)9,1(2,7,6) (4,10)-11=8
40—F— (5,#3,7)6(1,9,2)-(4,10)-11=8
o ILRE
BB 3 6304 JA R 3-7 2804 & 3-6 1,230 3EE 2-3-7 3708
B B 3 1204 2=3) 1504 5 & 3-7 1,270 3Es 3-7-2 6,730M
7 120/ 2-7 170/ oS- 3-7 2,810
2 1109

ABIC OV TRUTEREERRODDZE. THRIIZEL.



